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3amaua K-31.1. Toayboscran Tuana
a=m,d=(8,4,1), A(-8,1,-3).

3amaya K-31.2.
a=m,d=(8,4,1), A(-8,2,2).

Llozux Hapvs

3anmaya K-31.3. 3esaeunuesa Aaéna
a=—-7/2,d=1(2,1,2), A(-3,6,3).

3agauva K-31.4. Kupvaros Hsean
a=7/2,d=(1,-2,2), A(6,1,7).

3amaua K-31.5. Kobarus asud
a=-7/2,d=1(2,1,2), A(—1,7,5).

3agauva K-31.6. Konobarosa Buxmopus
a=m,d=(8,4,1), A(-8,1,-3).

3agagya K-31.7. Kocapesa Eaena
sin(a/2) = 0,8, cos(a/2) = —0,6,

—

d=(-2,1,-2), A(—3,4,2).

3agauya K-31.8. Jlanowx Baaducaas
sin(a/2) = 0,8, cos(a/2) = —0,6,
d=(-2,1,-2), A(=6,2,1).

3amaua K-31.9. Mamonosa apos
a=7/2,d=(1,-2,2), A(4,5,3).

3amaua K-31.10. Mameees Anexcandp
a=7/2,d=(1,-2,2), A(11,4,12).

3agaua K-31.11. Mosvanos Jleonuod
a=—-7/2,d=1(2,1,2), A(1,7,9).

3amaua K-31.12. Macnuxoe Maxcum
sin(a/2) = 0,8, cos(a/2) = —0,6,
d=(-2,1,-2), A(8,11,11).

3amaua K-31.13. Onawzxo Aaexcandp
sin(a/2) = 0,8, cos(a/2) = —0,6,

-

d=(-2,1,-2), A(8,11,11).

3agaua K-31.14. Ilasnroe Anexcet
a=-7/2,d=1(2,1,2), A(0,1,4).




3amaua K-31.15. Ioodaecrux Beesoaod
a=m,d=(8,4,1), A(-8,4,3).

3amauya K-31.16. Ilonos Maxcum
a=m,d=(8,4,1), A(—8,-3,4).

3amava K-31.17. Pyodv Anamoaut
a=m7/2,d=(1,-2,2), A(10,6, 10).

3amauya K-31.18. Pabos Maxcum
a=m,d=(8,4,1), A(—6,—4,1).

3amaua K-31.19. Copoxun Huxuma
sin(a/2) = 0,8, cos(a/2) = —0,6,

—

d=(-2,1,-2), A(=5,5,0).

3amaua K-31.20.
sin(a/2) = 0,6, cos(a/2) = 0,8,
d=(1,4,8), A(=5,0,—5).

Cyuxos Ilasen

3amaua K-31.21. Tpywruna Eausasema
sin(a/2) = 0,6, cos(a/2) = 0,8,

—

d=(1,4,8), A(5,0,5).

3agaua K-31.22. Dedoposa Kpucmuna
a=7/2,d=(1,-2,2), A(10, 10, 2).

3agaga K-31.23. Quaumonos B.A.
a=m,d=(8,4,1), A(—8,-3,4).

3amaua K-31.24. Xapusun Iasea
a=m,d=(8,4,1), A(—4,0,—4).

3agaua K-31.25.
a=7/2,d=(1,2,

Lot Aaexceti

—2), A(3,1,7).

3amaua K-31.26.
sin(a/2) = 0,6, cos(a/2) = 0,8,
d=(1,4,8), A(—4,0,5).

YQuuxanv Hean

3agaua K-31.27.
a=7/2,d= (1,2,

IHlaxupos Baaducaae

—2), A(1,12,8).
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OTBeTHhI.
Cdepuueckoe apukeHne. IIoBopoT BOKpYyr mpou3BOJIBHOI
ocu 05.04.2015

N[ A, | A, | A A

1 (3.556 |[-8.222 (4.444 |10|Toxy6osckas Tuana

2 15.333 |-9.333 |-5.333|12|Horux Tapes

3 17.333 |-1.333 |-6.667|10|3ssarunnesa Anéna

4 1-9.333 |-3.333 |1.333 |10|Kupssros Usan

0 |7.333 |-1.333 |-6.667|10|Ko6amsa Tasun

6 |3.556 |-8.222 |4.444 |10|Kono6anosa Buxkropus
7 1-1.067 |-7.467 |-2.667|8 |Kocapesa Enena

8 12.667 |-5.333 |-5.333|8 |/Tamgsix Braguciaas

9 1-9.333 |-3.333 |1.333 |10|Mamonosa Tapsa

10]-18.667|-6.667 |2.667 |20|Marsees Asnexcamip
6.667 [1.333 |-7.333|10|Monuanos Jleonun
12|-13.120(-19.840(3.200 |24|Msicrukos Maxcum
-13.120}-19.840(3.200 |24 |Onamxo Asexcanmp
14|1.333 |2.667 |-2.667|4 |ITasnos Asekceit
7.111 |-12.444|-7.111|16|Tomnecusx Beesosion
16(1.778 |-1.111 |-9.778|10|omo Maxcum
17]-18.667|-6.667 |2.667 |20|Pyxs Amaronmit
18|-0.444 |1.778 |-3.556|4 |Pa6os Maxcum
19|-1.067 |-7.467 |-2.667|8 |Copoxun Hukura
20|1.067 |-5.333 |2.533 |6 |Cyukos Masen
21]-1.067 |5.333 |-2.533|6 |Tpymxuna Enuzasera
22|-18.667|-2.667 |6.667 |20|®enoposa Kpucruna
23|1.778 |-1.111 |-9.778|10|®ummmomnos B.A.
24/0.889 |-3.556 |7.111 |8 |Xapusun ITasen
25(1.333 |-7.333 |-6.667|10|1Toir Anexceit
26(5.333 |-2.667 |0.667 |6 |Ywukans WBan
27113.333 |-13.333|-6.667|20|IIakupos Buaguciaas
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